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Question 1.Select the related word/letters/numbers from the given alternatives:
3 T el & ¥ JalRid 2sg/s1eRl/e ol g

Star : Telescope :: Ship : ?

Options:

1) Periscope

2) Microscope

e

3) Deck

5

4) Gyroscope

( SRR )

Correct Answer: Periscope

Candidate Answer: Periscope

Question 2.Select the related word/letters/numbers from the given alternatives:
A T e & T Yafia wsg/s1erl/Te &1 gHul

QSUW : TVXZ :: ACEG :?

Options:

1) KMNP

2) EGMN

3) DFHJ

4) FHIL
Correct Answer: DFH]
Candidate Answer: DFHJ

Question 3.Select the related word/letters/numbers from the given alternatives:
3 T fAwedl & ¥ JafRid wsg/s1eRi/e o gihul

12:54::15:7

Options:

1) 56

2) 64

3) 67

4) 69
Correct Answer: 69
Candidate Answer: 69

Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives

3 e famed! # 9§ faww wree/ sier/<e 9|
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Options:
1) Wolf
o

2) Cat
faeeht

3) Dog
4) Fox

Correct Answer: Cat

Candidate Answer: Cat

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives

feu T ol & 9 fawm wree/ sieR/wRem gm 9|
Options:
1) BF

2) IR
3) MQ

4) AE
Correct Answer: LR
Candidate Answer: LR

Question 6.

For the following questions
Find the odd word/letters/number pair from the given alternatives

feu T ot & ¥ fawm wree) sier/<Rem @ g
Options:
1) 36-72

2) 17-34
3) 28-49

4) 24-48
Correct Answer: 28-49
Candidate Answer: 28-49

Question 7.Arrange the following words as per ordering the dictionary:
Al el oI UgH R # IGT T A & SR ford |

1) ASSIGN

2) ASSOCIATE
3) ASSIST

4) ASSISTANT
5) ASSIGNMENT

Options:

1) 1,5,3,4,2
2) 1,3,5,4,2
3)1,3,524

4)1,5243
Correct Answer: 1,5,3,4,2
Candidate Answer: 1,5,3,4,2

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series:
A T 37y & U Ue g 7| fou MU fawedt & 9 9 Ot fawed g S o & [ R

FED, IHG , LKJ, ONM, ?
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Options:
1) MKJ

2) VUT
3) CBA

4) RQP
Correct Answer: RQP
Candidate Answer: RQP

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series:
33 M 37y & U Ue g 3| fou M fawedt & 9 9 Ot fawew gl S e & g |

3,4,7,2,18,29,47
Options:

1)8

2)9

3)11

4) 12
Correct Answer: 11
Candidate Answer: 11

Question 10.Pointing the lady in the photograph, Seema said, "Her son's father is the son-in-law of my mother". How is Seema related to the lady?

Wiel H U Tl Bl SR SRR B U HHAT 3 g1, I8P U F a1 A8 A F arre 31" a1 &7 39 Bt e Tt I T qaid ?
Options:

1) Sister

Eial

2) Mother

ar

3) Cousin

TR/ R Y G AR S8

4) Aunt

Correct Answer: Sister
ErREl

Candidate Answer: Sister
EREl

Question 11.P, Q, R, S& T are sitting in a straight line facing North. P sits next to S but not to T. Q is sitting next to R who sits on the entrance left corner. Who sits to
the left of Sif T does not sit next to Q?

P, Q R, S 3R T Ik Bl 3R 7 b AR @ A IS T1 P,S F IS I3TR fbg T €M1 Q, R & o1¢ Ja1 2 St b 3@y & s PR W B1 a2 7,Q & a1 T Joar g at
AU S P Tl SR P VBT ?

Options:
1)P

2)Q
3)R

49T
Correct Answer: P
Candidate Answer: T

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
ffifead fAwed & ¥ 98 e g S 3T T 2eg & 18RI &1 TN I -Ta] ST o abdlT:

EXPERIMENTAL

Options:

1) PARENT

2) RELAX

3) METER

4) METHANE
Correct Answer: METHANE
Candidate Answer: METHANE

Question 13.If E=5, PEN=35, then PAGE=?

Tfd E=5, PEN=35 B, a PAGE=?
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Options:
1) 27

2) 28
3)29

4) 30
Correct Answer: 29
Candidate Answer: 29

1er o1 o

Question 14.If '+' means '+, '+' means '-', '-' means 'X' and 'X' means '+', then

e+ IR A, YR - A, - SR X W E SR X W IR+, A
48+ 16x4-2+8="7

Options:

1)3

2)6

3) 112

4) -28
Correct Answer: 3
Candidate Answer: 3

Question 15.Some equations have been solved on the basis of a certain pattern. Find the correct answer for the unsolved equation on that basis:
T8 TR BT 5 bt fafkne Yo & SrguR e mar §1 I YR W I THGRON BT 56 e [ 5 et Fepren man § 2

7*%4%3 = 437

8*6%4=648

4*3%6=2

Options:
1) 346

2) 364
3) 643

4) 463
Correct Answer: 364
Candidate Answer: 364

Question 16.Select the missing number from the given matrix:

fau Ty sregg # ¥ g oi I FfoTl
5 2 4
4 a4 7
2 5 3
18 30 ?
Options:
1) 43
2) 42
3)33
4)32

Correct Answer: 33
Candidate Answer: [ NOT ANSWERED ]

Question 17.A boy runs 20 m towards East and turns to right, runs 10 m and turns to right, runs 9 m and again turns to left, runs 5 m and turns to left, runs 12 m and
finally turns to left and runs 6m. Now, which direction is the boy facing?

T TSHT 20 . Id @I 3R s 3§ 3R R o’ g3 o 10 . Srsar g1 fhR o geak 9 . Siear 8 ofR fi a1 gg o 5 Hl. Jear ¥ au o a1 geae 12 . digar
2 3R e T g 6 M. SSdT 71 31d 39 AP b AeX b G HiF-A Ram e 2
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Options:
1) East

2) West
qigH

3) North

[SIGRY

4) South

gl

Correct Answer: North
[SIGRS

Candidate Answer: North

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement:I All astronomers are scientists.

Statement:II Some scientists are shopkeepers.

Conclusion:I All astronomers are shopkeepers.

Conclusion: Il Some shopkeepers are astronomers.

Conclusion: lll Some shopkeepers are scientists.

Conclusion:1V All scientists are astronomers.

fgffad vy & te a1 3) gaae fod T B, S 3t IR e s/agang, 1, 1,11 iR IV R 2 €1 3ueh! faaR o1 € T aador I § IR 98 IMHaa: I1d 9l 9
o Uciia gar 811 3! Hufa BT | 6 fou U goden o @ Si-a1 Rfdd U § w6t e s/amadr Rt s w2

o I : g griaeed, e €

gaaqeq 11 : ga—@%amw—m%

aaibhul @amm%
e 11 $8 gFHaR gl
e 111 @ GHMER IS

ey v o S @ﬂmm%ﬁ %l
Options:

1) Only | Conclusion follows

Fad 1

2) Conclusions |, Il andllifollows
e 1,11 8RR 111 fAad §

3) Only conclusion llIfollows

Fad 111 e e g

4) Conclusion Iland IV follows

sy 11 3R 1v e

Correct Answer: Only conclusion llifollows

Fad 111 Frepy Fdaar §
Candidate Answer: [ NOT ANSWERED ]

Question 19.How many points will be there on the face opposite to the face with 2 points?

o g% W 2 farg § SU% 3% W9 ard 48 R e g g 2

[ .
0 o o 4 - = a e
t . - s
. 3 =
1 w I A - ol
. L - o
' L - .
. LI 2

Options:
1)1

2)5
3)4

4)6
Correct Answer: 6
Candidate Answer: 6

Question 20.Which figure represents the relationship among -
Computer skilled, Computer Illiterate, Employees

Al & ¥ HH-I 1P ' FTHR-GU, ' FYR-FRER, 'HHARGT Y g2 § 2
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Options:
1)

/"
0
N~

4

2)

/[

=
W
],

.
y

LA

%’?

4)

ﬁ?:ﬁ
\\\:—'—;’/A

Correct Answer:

)
\N¥/

Candidate Answer:

a3 N
N/ 1)
X

—|

N

Question 21.Which answer figure will complete the figure in the question figure?

DHH-T IR MBI T MBI & YT o) g1 Bt ?

N\

L/
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Options:
1)

2)

3)

4

Correct Answer:

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& T IR BTt H ¥ IT IR B B g g uw el Fifea 1
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Options:
1)
/ N
2)
AN
3)
\\
AN
4) _
Cor;'ect Answe-r:

Candidate Answer: [ NOT ANSWERED ]

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

T U= 3l F Ty STER BITS B HIghR dles qUT Tia & §15 98 g Ik HTepfa ST e & 2

?
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Options:
1)
B
=
1
2)
i
a0
1 [
3)
.
m
4)
1 Im
Cor;-ect Answer:
m Im
Can-didate Answer:
1 Im

Download More PapesfSeisstiongemmisciovt]obsAlert.In

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

e T T B MN 3T TR T o Y &1 TS SR ATpfadl H F BH- Spfa U= Sl Bt Wl ufaferw gt 2

(D]
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Options:
1)
[®]
N
2)
..... [ 2 N I B
A
3)
(]
AN
4)
I . T S
/
A
Correci; Answer:
..... o T I I A
AN
Candidate Answer:
..... o T I I A
AN

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'G' can be represented by 04,40, etc. , and 'K’
can be represented by 56, 68,etc. Similarly, you have to identify the set for the word 'LIFE'.

Th U A U G-T9g gRT 21 7T 8, S fob fyopedt & A fobeft wop @ foan 7 81 fapett & w710 Srom-wg 31ert & ovif g qwit e B, S fb < Ry g &
TR H B 1 Mg 1 % T 31K Ufe o1 TR 0 F 4 3R Mg 11 B 5 T 9 IS 71 37 MR A U 34eR H Ugal St Ut 3R a1g & TarY gRT =11 o1 Tohal B 1
TETERYT & fAT, 'G' Bl 04,40 31 FRT ST S WebelT § TUT'K' BI 56,68 3HTfe; FRT ST S FebelT 71 3 R ¥ MU 3T W=k 'LIFE' & o0 3M1agg 1 UgaH1 31

o |1 (2 3 |4 5 & |7 |8 29
o ¢ |op |[E F |e 5 |H [k L |1 W
bl F G :C D E [ | N H s L
2 D |[E |F |6 |C 7 |k |t 1 [N Kk
a E F _G C D 3 E | ™ H K
1 ¢ |c b E |F 9 (N |H [k L

http://thepracticetest.in/chal IengesysmwmaﬁgﬂeMﬁlﬁﬁpR_&PD$=Eé'@m 1auferBo4sbo4afadc adaceiobpete | n 10/28



9121/2016 Download More PapestfSetetiongepmishovtJobsAlert.In

Options:
1) 56,58,03,02

2) 57,65,03,02
3) 66,62,03,02

4) 57,68,10,02
Correct Answer: 57,65,03,02
Candidate Answer: 57,65,03,02

Question 26.Which of the following brings out the 'Consumer Price Index Number' for Industrial workers?

IT-H i & o+ Suied I Edhie ver Rufafad & @ o ufaufed Rarg ?
Options:
1) RBI
e Rerd o
2) The Labour Bureau
5 SR
3) Commerce Department
faum
4) NITI Ayog
it SRt

Correct Answer: The Labour Bureau

oH SR

Candidate Answer: Commerce Department
faum

Question 27.The basis of determining dearness allowance to employees in India is

URT B HHANG 87 HES LT o B BT SUR |
Options:
1) National Income
T S
2) Consumer Price Index
JUIETT I YaHIH
3) Standard of Living
RGRESERICIRSGN
4) Inflation Rate
PR
Correct Answer: Consumer Price Index
JUIETT I YAHIH
Candidate Answer: Standard of Living
g-He - Bl &R

Question 28.An indifference curve measures the same level of

RERIEGIGED ¥ THH &R B AGAT B
Options:

1) Output from two factors

& HRP| & I

2) Satisfaction from two commadities

& aegei 9 U wgfy

3) Satisfaction from Income and Capital

319 9 gSit F v |

4) Satisfaction from expenditure and savings

P U1 §9d 9 YT g arelt Igfy

Correct Answer_: Satisfaction from two commaodities
& aegeit 9 U Ty
Candidate Answer: [ NOT ANSWERED ]

Question 29.The largest committee of Parliament of India is

YRAT TE Pt Ia9 T FAST B W F ?
Options:
1) Public Accounts Committee

2) Estimates Committee

UTas e St

3) Committee on Public Undertakings
JUhH

4) Joint Parliamentary Committee

Ty dudig wfafd

Correct Answer: Estimates Committee

Ui
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Candidate Answer: Joint Parliamentary Committee

T Tae At

Question 30.Which of the following State has bicameral legislature?

fofafad o 3 fra Isu &1 RyFHsd fgaeiia g 2
Options:

1) Tamil Nadu

ama g

2) Punjab

EEIE]

3) Sikkim

Rifewa

4) Jammu and Kashmir

A § R

Correct Answer: Jammu and Kashmir
S 9 HIER

Candidate Answer: Jammu and Kashmir

ST @ HIAR

Question 31.Cod liver oil from fish is rich in which vitamin?

TS I YT B TN IS RoraR a 1o faeTfoe 3 9y g g 2
Options:
1) Vitamin A

A
2) Vitamin D
[CEIERED)
3) Vitamin C
e
4) Vitamin B
faerfm B
Correct Answer: Vitamin D
[CEIERED)
Candidate Answer: Vitamin A
[CEIEER

Question 32.Isolines joining places of equal rainfall are called

T 9! aTa RIFT B e are JeEREret o FEA G
Options:
1) isohyets

2) isotherms
3) isobars

4) contours
HEIR

Correct Answer: isohyets

Candidate Answer: isobars

Question 33.The Swadeshi Boycott Movement is related to

W sricia & Jra e § 2

Options:

1) Partition of Bengal in 1947

1947 B A & fau™=

2) Partition of Bengal in 1905

1905 # &S & faHTer

3) Non cooperation movement in 1921

1921 & SEANT 3G

4) Partition of Punjab in 1947

1947 T U9E & fqUIeH

Correct Answer: Partition of Bengal in 1905
1905 H S & AU

Candidate Answer: Non cooperation movement in 1921
1921 % '

Question 34.Which river does not form a delta?

frafifad 8 4 2 & 7 &1 Qe (3w TR 2
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Options:

1) Ganga

T

2) Brahmputra

ERLcel

3) Godavari
4) Tapi
ardt

Correct Answer: Tapi

Candidate Answer: Tapi
andt

Question 35.Babita Kumari represented India in the Rio Olympics 2016 in which sport?

2016 % R 3icifties § Sefidn SHRY HRA &1 HiaMd g @ § SR EIR ?
Options:
1) Boxing

1

2) Wrestling

E!

3) Hockey

s

4) Badminton
Correct Answer: Wrestling

Candidate Answer: [ NOT ANSWERED ]

Question 36.Which one of the following is commonly used for pulp bleaching in the paper industry?

BT I H G B TR FA P o Fufofad & S am: gt v e s g 2
Options:
1) Mild sulphuric acid
5:a Eal
2) Glucose isomerase
Gl
3) Hydrogen peroxide
BRSO RINTSS H
4) Iodine and water

SMASH g Ut BT

Correct Answer: Hydrogen peroxide

Candidate Answer: [ NOT ANSWERED ]

Question 37.The official language of the Delhi Sultanate was?

el Head 3t ISt T @ o 2
Options:

1) Urdu

2) Arabic

SR

3) Persian

4) Hindi

Correct Answer: Persian

Candidate Answer: Persian

Question 38.Yeast is a

et gl
Options:
1) Bacteria

2) Fungi
Erca
3) Algae

4) Bryophyte
SwTeT
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Correct Answer: Fungi
EZca

Candidate Answer: Bacteria

Question 39.Mutiny of 1857 was described as the First Indian War of Independence by

1857 & fa%ie &I YRA & TUH Wc-adl SUH &I U371 [H TaH &i ?
Options:

1) Bal Gangadhar Tilak

T TR s

2) Subhash Chandra Bose

JHY T I

3) Bhagat Singh

W g

4) V. D. Savarkar

1. 31, FravaR

Correct Answer: V. D. Savarkar
at. 8. FraRax

Candidate Answer: Bal Gangadhar Tilak
1 TR e

Question 40.Bandhavgarh National Park is located in which State?

TR TP I I H R 2
Options:
1) Maharashtra

2) Madhya Pradesh
e Y3
3) Gujarat

4) Jharkhand

RS

Correct Answer: Madhya Pradesh
e Y3

Candidate Answer: Madhya Pradesh
e Y3

Question 41.C. P. U. consists of

SRgdA_ Fasl
Options:

1) Arithmetic and Logical unit and Register
AR 7 Tivied gHe T IR

2) Arithmetic and Logical unit, Register and Control unit

SHRAeH T Tivied e , IAoeR adT &

3) System unit and Memory

ey giie qur aad

4) Hard disk and Control unit

T1e & qur e gfie

Correct Answer: Arithmetic and Logical unit, Register and Control unit

SHRMACH T divipd e , IAoReR TUT deld ge
Candidate Answer: Arithmetic and Logical unit, Register and Control unit

Jfmfew g divied gie , IAoeR qur deid

Question 42.Which of the following is not connective tissue?

fAufafad & I S a1 v s T8 8 ?
Options:

1) Bone

Y

2) Cartilage
Iuy

3) Blood

X

4) Skeletal muscle
SHapret O=M

Cprrect Answer: Skeletal muscle
Heprer O=f

Candidate Answer: Blood
X

Question 43.Every hot object emits
% T a5 A BT IS BTl B
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Options:

1) X - rays
TR X

2) Visible light
<R UhRI

3) Infrared rays
SR febvul

4) Ultraviolet rays
TRISTHT fepot

Correct Answer: Infrared rays
SR Tl

Candidate Answer: [ NOT ANSWERED ]

Question 44.0zone protects biosphere from

SIS sfiadsd &t B
Options:

1) X - rays

TR X

2) Gamma rays

T

3) Ultraviolet rays

QRIS {3t

4) Infrared rays
3avad TRl

Correct Answer: Ultraviolet rays

Candidate Answer: Ultraviolet rays

Question 45.The molecular mass of a gas is

et At 1 af1fOaep o g
Options:

1) twice its vapour pressure

IGd I A g1

2) equal to its vapour pressure

ISP ITATE F RER

3) half its vapour pressure

IGd IS I SATET

4) not related to its vapour pressure

IGD AUGE I NS

Correct Answer: twice its vapour pressure
IS ITwErs J AT

Candidate Answer: twice its vapour pressure

I IS A g

Question 46.'Stand up India' scheme launched by the Prime Minister recently is related with

BT &1 H WU T gRT YRR ' WS oY 3T Wi o1 are e R 2

Options:

1) Promotion of entrepreneurship among SC, ST and Women
ST, SR ST g f&aal & Saidr & WdeT 9

2) Promotion of rights of Divyangs

et & PRI & Ui ¥

3) Promotion of compulsory education for women

ool & forg srfard fRien &

4) Promotion of Indian exports in western countries

ofgef 2= B ureda Fafa & diermg= 9

Correct Answer: Promotion of entrepreneurship among SC, ST and Women
S, Srafea Sonfaat 9 el & ST & Wi ¥

Candidate Answer: Promotion of rights of Divyangs
et & PRI & Uidme- ¥

Question 47.Which one of the following institutions is also called "World Bank" ?

froffea & 9 o O v e §F ' & T8 ¥ o IE Sl B 2
Options:

1) International Bank of Reconstruction and Development

2) International Monetary Fund

: Hs

3) UNICEF

4) IFC

3mE T @

Correct Answer: International Bank of Reconstruction and Development
e S BR Rebieaer s fSaauive
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Candidate Answer: International Bank of Reconstruction and Development
$eRATAT SP BR RepieaeH s fsaauive

Question 48.Which is called the "Lake District of India"?

foffed & ¥ o URd & ' O fexiae ' & $U & ST g ?
Options:

1) Nainital

BRG]

2) Shimla
Rren

3) Sikkim
ffewa

4) Matheran
ARRA

Correct Answer: Nainital

Candidate Answer: Nainital

Question 49.Which of the following sets of taxes belongs to Central Government?

frafied & § &1 &1 31 9 9= $1d WHR T T 1 ?
Options:
1) Excise duty, Sales tax and Custom duty
DR B, foh! PR T A1 Yeb
2) Income tax, Custom duty and House tax
SRR, HHRD T TEH
3) Excise duty, Custom duty and Income tax
HR, YHReD T AR
4) Custom duty, Entertainment tax and Income tax
, TARGH IR g 3@

Correct Answer: Excise duty, Custom duty and Income tax
EHRT B, WHAReD d TIBT

Candidate Answer: Excise duty, Custom duty and Income tax
BRI B, VHReD d TIBT

Question 50.Brown stains in vessels and clothes indicate the presence of high quantities of in water

T TUT HUS! TR e sy T A BT AN T & Thad §
Options:
1) Magnesium

2) Calcium

3) Manganese

4) Ch.romium

Cprrect Answer: Manganese

Candidate Answer: [ NOT ANSWERED ]

Question 51.The radius of a sphere and right circular cylinder is 'r'. Their volumes are equal. The ratio of the height and radius of the cylinder is:

T T 3R TP I qitd Sei 1 Boa 'r' §1 37 3MTaa sRIsR &1 Sa 1 el 3R FBIsar o1 Srurd Tid Hifomg ?
Options:

1)3:1

2) 2:1

3)3:2

4) 4:3
Correct Answer: 4:3
Candidate Answer: 4:3

Question 52.When a discount of Rs. 42 is allowed on the marked price of an article, the new reduced price becomes 86% of the original price. Find the marked price.

Ife el o & $ifdbd e TR Rs. 42 Bl ge & I & O 75 91 g2 PId, T BIHd BT 86% B Sl 81 b PAd T BT 2
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Options:
1) Rs.250

2) Rs.300
3) Rs.350

4) Rs.400
Correct Answer: Rs.300
Candidate Answer: Rs.300

Question 53.A merchant buys 25 litres of milk daily at the rate of X 12 per litre. He mixes 5 litres of water in it and sells at the rate X 10.40 per litre. His gain/loss is:

T gHMER U fa 25 Tiex gy % 12 Ui diter At ar & wdlaar 1 SUH 98 5 oliex U FAemes % 10.40 TR diier ot @x A 99 a1 8 | TR S9% ard/g1 & s
fpa g 2

Options:

1) 8% profit

8% H

2) 2% profit

2% <Y

3) 4% profit

4% Y

4) 6% profit

6% <Y

Correct Answer: 4% profit
4% Y

Candidate Answer: 4% profit
4% TH

Question 54.A man spends 15% of his income. If his expenditure is Rs. 75, his income (in rupees) is:

T T 37T 31T BT 15% T R ol ¢ | Tl IHbT W Rs. 75 B, A1 ST 3T (Il H) T i ?
Options:
1) 400

2) 300
3) 750

4) 500
Correct Answer: 500
Candidate Answer: 500

Question 55. To cover a certain distance with a speed of 60 km/hr, a train takes 15 hours. If it covers the same distance in 12 hours, what will be its speed?

TP YT ST 60 35,111, /6ieT &1 TR & 9 ET 8, T Al g & a9 B H 15 9 BT 999 At 71 S 98 8T g 12 B H 77 I o STt =1 T gl ?
Options:

1) 65 km/h

65 .11, /eier

2) 70 km/h

70 fo. 7). /der

3) 75 km/h

75 fob. ). rder

4) 80 km/h

80 fov. . /diet

Correct Answer: 75 km/h

75 .. /der

Candidate Answer: 75 km/h
75 .11, /een

Question 56.Sum of three consecutive integers is 51 . The middle one is:

T AT quifet T 7T 51 T 1 S aTeh Sem e g 2
Options:
1) 14

2) 15
3)16

4) 17
Correct Answer: 17
Candidate Answer: [ NOT ANSWERED ]
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Question 57.

IfX + = = 5, then the value of 25—:-: is
X x“+5x+1

aﬁx+§=5a’riaﬂmﬂaﬁr@‘?

U A% 45x+1

Options:
1)

2) Ya
3) %

4) %
Correct Answer: 2
Candidate Answer: >

Question 58.The point of intersection of all the three medians of a triangle is called its

e B Bt FT mfererel Bl Blea o g Pl T B § ?
Options:
1.) orthocentre

2) incentre
3T I
3) centroid

4) circumcentre
Correct Answer: centroid

Candidate Answer: incentre
ofa: F%

Question 59.The area of a triangle with vertices A (0, 8) , O (0,0) and B (5, 0) is:

T8 i, s S A (0,8), 0 (0,0), 3R B (5,0) B, @ &bl o1 81T 2
Options:

1) 8 sqg. units

g it

2) 13 sq. units

13 gfe

3) 20 sq. units

20 Tt gfe

4) 40 sq. units
40 Tif gfe

Correct Answer: 20 sq. units

20 Tt gfe

Candidate Answer: 20 sq. units

20 3 gfe

Question 60.The least number that must be subtracted from 1294 so that the remainder when divided by 9, 11, 13 will leave in each case the same remainder 6 is:

T gaH T 1 HIOTE o1 1294 & | geH TR 3R R AW a=ft Wem o1 9,11, 13 i T U1 33 R UAF IR 6 A &1 2
Options:
1)2

2)3
3)1

4) 4
Correct Answer: 1
Candidate Answer: 4

Question 61.A and B can do a piece of work in 72 days. B and C can do it in 120 days and A and C can do it in 90 days. A alone can do it in:

gﬁ;gﬁﬁwﬁn%ﬁﬁmw%l B 3R C S & Bl 120 3T & = b & | U1 A 3R C firerR 3§ 90 T & 9= b B 1 IART A bl 3 B Y e
?
Options:

1) 120 days
120 fa=1

2) 130 days
130 fa=

3) 150 days
150 fa&=

4) 100 days
100 &=
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Correct Answer: 120 days
120 &

Candidate Answer: 120 days
120 &=

Question 62.Rs. 730 were divided among A, B, C in such a way that if A gets Rs. 3 then B gets Rs. 4 and if B gets Rs. 3.50 then C gets Rs. 3. The share of B exceeds
that of C by

i{sf.g@(éﬁﬂfﬁ{A,B,C%@Hsﬂwﬁuﬁaaﬁﬂé%%aﬁAﬁRs. 3 frr Y B Y Rs. 4 A 3R T B &1 Rs. 3.50 i df € A1 Rs. 3 Frdl1 B o1 R, € | b
?
Options:
1) Rs.30

2) Rs.40
3) Rs.70

4) Rs.210
Correct Answer: Rs.40
Candidate Answer: [ NOT ANSWERED ]

Question 63.The average marks obtained in a class of 50 students is 70%. The average of first 25 is 60% and that of 24 is 80%. What is the marks obtained by the
last student?

50 BT Bl D T SGdT 70% 3ich U fhT 7| TUH 25 BE 7 3T 60 % 3 U Y 3R 24 BHET T 3G 80% 3ic U U 3ifdwH B 7 b 3iep U fpe 2
Options:

1) 90%

2) 60%

3) 80%

4) 70%

Correct Answer: 80%

Candidate Answer: [ NOT ANSWERED ]

Question 64.

5 a®+1
It = (a? + 1) = 3, then the value of p is

e (1/a)@2 +1) =38, @
a®+1

a® 1 OM 91 T 2
Options:
1)9

2) 18
3)27

4)1
Correct Answer: 18
Candidate Answer: 18

Question 65.
Ifa=v2+1,b=+2 —1,

L
then the value of P + e is

AL a= VZ+1L,b= V2181 d@f —— + —— & AT Id?

a+1 b+1

Options:
1)0

2)1
3)2

4)3
Correct Answer: 1
Candidate Answer: 1

Question 66.In a triangle, the distance of the centroid from the three vertices is 4cm, 6cm and 8cm respectively. Then the length of the smallest median is:

it Bt 7 i Seaf @ P B g8 HAR: 4 TR, 6 A R 8 T, T 1 T BT WD B THATS 71 BIOTT ?
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Options:
1)8

2)7
3)6

4)5
Correct Answer: 6
Candidate Answer: 6

Question 67.0 is the centre of the circle and 2AOB = 150°, and the shaded portion is x part of the circular region, then x = ?

e I BT % O Bl 3R £AOB = 1500, 3R BRGR T G &7 BT x HFT 8, T x BT A 7 T 2

Options:
1)

1
12

2)

WO

3) %

4%
Correct Answer: %
Candidate Answer: [ NOT ANSWERED ]

Question 68.

0 is a positive acute angle and sin6 - cosB = 0, then the value of secB + cosect is

BWW?EW%G?RSMS-COSB =0ﬁ,?ﬁsec9+cosec9$[ﬂﬁ$‘lﬁaﬁﬁm?

Options:
1)2

2)
V2

3)
palp)

4)
3v2

Correct Answer:
2

Candidate Answer:
2

Question 69.

2 tan 53° Cot 307,
The value of - i
Cot37° tan10°®

tans3* cot 80° e T
2c:ol:3?=_t:anlfFEﬁl— :
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Options:
1)3

2)2
3)1

4)0
Correct Answer: 1
Candidate Answer: 1

Question 70.The compound interest on Rs. 24000 at 10% per annum for 1% years, interest being compounded semi-annually is

3¢ (1v2 ) 9 & 1T 10% T BT X J Rs. 24000 BT AR W Fhgla o (refaiier sravrer R Tiifor) Ty ?
Options:
1) Rs.3783

2) Rs.3777
3) Rs.3780

4) Rs.3781
Correct Answer: Rs.3783
Candidate Answer: Rs.3783

Question 71.A boat is moving away from an observation tower. It makes an angle of depression of 60° with an observer's eye when at a distance of 50m from the
tower. After 8 sec., the angle of depression becomes 30°. By assuming that it is running in still water, the approximate speed of the boat is

T A1 Bt Tefur ear ¥ R o T 81 9F 98 2R § 50 Hiex 31 g8l R T dl 98 Veid &1 &Y A 60° BT 3-8 HI0 §101 3 | 8 IHUS F 16 SHTTHT HIUT 30° BT G
a1 8, O T8 A g b 1 38R §U UF B 9d Y81 81 A1 Bl T I (TS ) Faisu ?
Options:

1) 33km/hr

33 fob. /. /et

2) 42km/hr

42 fo5. . jeier

3) 45km/hr

45 fo ot /der

4) 50km/hr

50 fo. 41, /5eT

Correct Answer: 45km/hr

45 {1t /der
Candidate Answer: [ NOT ANSWERED ]

Question 72.The bar graph given indicates the income of a firm. Study the graph and answer the questions given.
IgT fea 7T IR U U FHU B ST P G & | TR-TIG BT 3T FHfoTg 3R T=AT & IR forg |

14

12

INCOME

(IN 10
LAKHS

RUPEES)
:]

0 JAN FEB MAR APR MAY
Months

Which period shows a steady increase of income ?

g s & e A PR seRi g5 8 2
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Options:

1) March to May

E ¥ 78 9%

2) February to April

TR F A h

3) February to May

TRad 08 I

4) Insufficient data to predict
MHS Ui B

Correct Answer: March to May
o 3 € a6

Candidate Answer: March to May
e ¥ 7E 9%

Question 73.The bar graph given indicates the income of a firm. Study the graph and answer the questions given.

g a1 a1 IR Ut T B B 31 B SWid ¢ | IR-TTB BT LT BT IR U P IR v

14

12

INCOME

(IN 10
LAKHS

RUPEES)
:]

0 JAN FEB MAR APR MAY
Months

During which month, the ratio of the income to that of the previous month is the largest?

fa ATg T o1 1 Yd ATE Bl o J U SHfiHaH § 2
Options:

1) February

LERCE]

2) March

o

3) April

K

4) May

Correct Answer: March

Candidate Answer: February
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Question 74.The bar graph given indicates the income of a firm. Study the graph and answer the questions given.
TgT 301 T IR U T I B 31T B ST § | IR-IB BT ST BT 3R U= I SR Sifor|

14

12

INCOME
[IN in

LAKHS
RUPEES)
]

0 JAN FEB MAR APR MAY
Months

The income in May is how many times to that of February?

TS BT AT BRa) BT 31 BT a1 T8 2
Options:
1)3.25

2)4
3)3.5

4)5
Correct Answer: 3.25
Candidate Answer: 3.25

http://thepracticetest.in/chal Iengesys@QFWdarlﬁgﬂeM@mﬂpR_&i@D$=Eé’@iﬂél 1aafTrRo4sbo4afdchadactobee i N 23/28



9121/2016 Download More PapestfSetetiongepmishovtJobsAlert.In

Question 75.The bar graph given indicates the income of a firm. Study the graph and answer the questions given.
TgT 301 T IR U T I B 31T B ST § | IR-IB BT ST BT 3R U= I SR Sifor|

14

12

INCOME
[IN in

LAKHS
RUPEES)
]

0 JAN FEB MAR APR MAY
Months

The average monthly income of the firm (in lakh rupees) is

I BT 3G AP 3T (TRE ST H) o1 82
Options:
1)7.6
2)6
3)8.8
4) None of these
BIS el

Correct Answer: 8.8
Candidate An_swer: None of these

H IS T

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

HOODWINK

Options:
1) DECEIVE
2) NEGATE
3) UPSET
4) COVER

Correct Answer: DECEIVE
Candidate Answer: DECEIVE

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

FUTILE
Options:

1) DISTINCT
2) OPEN

3) PLEASED
4) FRUITFUL

Correct Answer: FRUITFUL
Candidate Answer: FRUITFUL

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Aggression

2) Agression

3) Aggretion

4) Aggresion

Correct Answer: Aggression

Candidate Answer: Agression

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

She does not listen to me (A) / because she is (B) / senior than me (C) / No Error (D)
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Options:
1)A
2)B
3)C
4)D
Correct Answer: C
Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The man is (A) / the most tallest (B) / of the group (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The boy (A) / which money (B) / was lost felt sorry (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

This is the wrong to this question .
Options:

1) saying

2) style

3) reaction

4) answer

Correct Answer: answer

Candidate Answer: answer

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The resort is the lake.
Options:

1) from

2) has

3) besides

4) beside

Correct Answer: beside
Candidate Answer: beside

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The life of a mosquito is , but very active.
Options:

1) long

2) passive

3) brief

4) important

Correct Answer: brief

Candidate Answer: brief

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase

and click the button corresponding to it.

Capital Punishment

Options:

1) Death sentence

2) Life imprisonment

3) To be jailed

4) Imprisoned for a long period
Correct Answer: Death sentence

Candidate Answer: Death sentence
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Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Leaps and bounds
Options:

1) Slowly

2) Rapidly

3) Jumping

4) Stationary

Correct Answer: Rapidly

Candidate Answer: Rapidly

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Smell a rat

Options:

1) Suspect something wrong
2) Smell a burned rat

3) Smell a rotten rat

4) Smell something right

Correct Answer: Suspect something wrong
Candidate Answer: Suspect something wrong

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Government by a king
Options:

1) Autocracy

2) Aristocracy

3) Oligarchy

4) Monarchy

Correct Answer: Monarchy

Candidate Answer: Monarchy

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Hobson's choice

Options:

1) Choice to live or die

2) Excellent choice

3) No choice at all

4) Bigman's choice

Correct Answer: No choice at all
Candidate Answer: No choice at all

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Violation of the sanctity of a sacred place
Options:

1) Sin

2) Sacrilege

3) Sedition

4) Blasphemy

Correct Answer: Sacrilege

Candidate Answer: Sacrilege

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

A chance remark by her friend transported her life.
Options:

1) transgressed

2) transposed

3) transformed

4) No improvement

Correct Answer: transformed

Candidate Answer: transformed

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Please switch of the fan.
Options:

1) switch off

2) switch in

3) switch out

4) No improvement
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Correct Answer: switch off
Candidate Answer: switch off

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The employees are hell bent at getting what is due to them.
Options:

1) hell bent on getting

2) hell bent for getting

3) hell bent about getting

4) No improvement

Correct Answer: hell bent on getting
Candidate Answer: hell bent about getting

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The new book written by Vikram Seth has become very populous.
Options:

1) populist

2) popular

3) populace

4) No improvement

Correct Answer: popular
Candidate Answer: popular

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Where have you first met your husband?
Options:

1) had you first met

2) did you first met

3) did you first meet

4) No improvement

Correct Answer: did you first meet
Candidate Answer: No improvement

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Man's attitude to various animals changed many times in the course of centuries. From indifference or practicality, he went on to adoration and deification, and then
to hatred. Ancient Egyptians, for example, highly appreciated the cat's ability to destroy rodents. The cat was much superior in this respect to the grass-snakes and
weasels they had kept in their houses before. These proved unable to cope with hordes of rats which invaded Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important animals, too. The goddess of the Moon, fertility and child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess, where cats were kept in luxury and fed the choicest of foods. They had their own priests and votaries, more numerous
as a matter of fact than any other sacred animal could boast. According to the Greek historian Herodotus, the festival in the city of Bubastis, which had a temple
dedicated to cats, was attended by as many as 700 thousand, who brought their offerings to the goddess in the shape of figurines of her made of gold, silver and
bronze and adorned with precious stones.

Egyptians appreciated the cat's ability to destroy .
Options:

1) snakes

2) weasels

3) houses

4) rodents

Correct Answer: rodents
Candidate Answer: rodents

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Man's attitude to various animals changed many times in the course of centuries. From indifference or practicality, he went on to adoration and deification, and then
to hatred. Ancient Egyptians, for example, highly appreciated the cat's ability to destroy rodents. The cat was much superior in this respect to the grass-snakes and
weasels they had kept in their houses before. These proved unable to cope with hordes of rats which invaded Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important animals, too. The goddess of the Moon, fertility and child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess, where cats were kept in luxury and fed the choicest of foods. They had their own priests and votaries, more numerous
as a matter of fact than any other sacred animal could boast. According to the Greek historian Herodotus, the festival in the city of Bubastis, which had a temple
dedicated to cats, was attended by as many as 700 thousand, who brought their offerings to the goddess in the shape of figurines of her made of gold, silver and
bronze and adorned with precious stones.

Hordes of rats invaded Egypt. They came from .
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Options:

1) Europe

2) Asia

3) Asia Minor

4) Africa

Correct Answer: Asia
Candidate Answer: Asia

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Man's attitude to various animals changed many times in the course of centuries. From indifference or practicality, he went on to adoration and deification, and then
to hatred. Ancient Egyptians, for example, highly appreciated the cat's ability to destroy rodents. The cat was much superior in this respect to the grass-snakes and
weasels they had kept in their houses before. These proved unable to cope with hordes of rats which invaded Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important animals, too. The goddess of the Moon, fertility and child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess, where cats were kept in luxury and fed the choicest of foods. They had their own priests and votaries, more numerous
as a matter of fact than any other sacred animal could boast. According to the Greek historian Herodotus, the festival in the city of Bubastis, which had a temple
dedicated to cats, was attended by as many as 700 thousand, who brought their offerings to the goddess in the shape of figurines of her made of gold, silver and
bronze and adorned with precious stones.

The cat was considered to be a .
Options:

1) sacred animal

2) goddess

3) symbol of peace

4) symbol of fertility

Correct Answer: sacred animal
Candidate Answer: sacred animal

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Man's attitude to various animals changed many times in the course of centuries. From indifference or practicality, he went on to adoration and deification, and then
to hatred. Ancient Egyptians, for example, highly appreciated the cat's ability to destroy rodents. The cat was much superior in this respect to the grass-snakes and
weasels they had kept in their houses before. These proved unable to cope with hordes of rats which invaded Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important animals, too. The goddess of the Moon, fertility and child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess, where cats were kept in luxury and fed the choicest of foods. They had their own priests and votaries, more numerous
as a matter of fact than any other sacred animal could boast. According to the Greek historian Herodotus, the festival in the city of Bubastis, which had a temple
dedicated to cats, was attended by as many as 700 thousand, who brought their offerings to the goddess in the shape of figurines of her made of gold, silver and
bronze and adorned with precious stones.

What is the opposite of the word ‘votaries’ ?
Options:

1) Enthusiast

2) Critic

3) Adherent

4) Fanatic

Correct Answer: Critic
Candidate Answer: [ NOT ANSWERED ]

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Man's attitude to various animals changed many times in the course of centuries. From indifference or practicality, he went on to adoration and deification, and then
to hatred. Ancient Egyptians, for example, highly appreciated the cat's ability to destroy rodents. The cat was much superior in this respect to the grass-snakes and
weasels they had kept in their houses before. These proved unable to cope with hordes of rats which invaded Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important animals, too. The goddess of the Moon, fertility and child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess, where cats were kept in luxury and fed the choicest of foods. They had their own priests and votaries, more numerous
as a matter of fact than any other sacred animal could boast. According to the Greek historian Herodotus, the festival in the city of Bubastis, which had a temple
dedicated to cats, was attended by as many as 700 thousand, who brought their offerings to the goddess in the shape of figurines of her made of gold, silver and
bronze and adorned with precious stones.

The word 'deification’ in the passage means
Options:

1) highly valuable

2) take pride

3) act of treating as God

4) devotees

Correct Answer: act of treating as God

Candidate Answer: [ NOT ANSWERED ]
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